Operaciones con Nimeros Senarios (I)

103204

— 3342

11232

— 51314

112204

— 20104

1112

+ 4111

2412

+ 34134

Calcule cada respuesta.

55016

+ 1532

45036

+ 3332

2030¢

+ 11254

5405¢

— 42104

5344

+ 5121,

5455

— 10244

10034

+ 15104

4201,

+ 4534,

5325¢

— 13234

3342

— 15154

11135¢

— 5332

2155¢

— 11144

43454

+ 4442

5040¢

+ 2512

23414

+ 32514
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Operaciones con Nimeros Senarios (I) Respuestas

103204
— 3342

25344

11232
— 51314

2101

112204
— 20104

52104

1112
+ 4111

5223

2412
+ 3413

10225

Calcule cada respuesta.

55014

+ 1532

114334

45036

+ 3332

122354

2030¢

+ 11254

3155

5405¢

— 42104

11554

5344

+ 5121,

145054

54554

— 10244

4431,

10034

+ 15104

25134

4201,

+ 4534,

131354

5325¢

— 13234

40024

3342

— 15154

1423

11135¢

— 5332

14034

2155¢

— 11144

1041,

43454

+ 4442

132314

5040¢

+ 2512

115524

23414

+ 32514

100324
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